Tree Abundance

Making meaning of data
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Forest Composition Field Investigation

Comparative Question: Which tree species is most
abundant in the forest at ?
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Learn about the Tree Species and their Needs
(This helps provide science concepts for reasoning)

I PEI =



e

ayrwolpuadoiyu saxy pue Appinb smolg
SUOIIPUDI USIYIRIG S31BI3|01

Fuipooj) pue1ydnolp saledajol
BuiB8o) 10 anpiaye

dn pauado ua3g SeY BAJE UE UBYM SMOID

13pIY pay

S]I0s P31EAN1ES O} JUEA|0110N
S]105 pAUIBIP-|3M “1SI0W
sain1esadwal pllw siapaid
PUE 5[105 Ya1-1US1INU 513434d

a|dey jea131g

1y8noup o1 Jues3|0110N

(s8ojasanu

s3]} s|1os uu=luod ouedio ydiy saanbay
sasniesadwial pw

sJ3)aid pue Ipeys 3yl W S1BUILLEE ueD
sjlos1am

13dns 10U 1Ng ‘paUIBIP-|[3M 1SIOW 513)31d

Hoojwa uialsapp

3PEeYS Jo JUBII|03110N
sauniesadwal jo 3Buel spian B Ul S3AIT
SIUNOLWE [|ELUIES JO SFUB] 3pIM B LI S3AI
S[10S PIUIEIP-||2M 1SI0W S43)31d

Jy-se|8noq

apeys awos aunbassBupaas
Fulpooj)|eUDSERS 531RII|0L
sjios Adwems o11slow siagaid
sainiesadwal pliwsiajald

iepaspay

sjualng

1918/

SEN

aal]

sonsualoRIeYD PUE Sluswalinbay 1elgeH a3l




Question: Which tree species is most abundant
in the Forest at ?
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Identify and measure the circumference of the closest tree to the trail along the
line on both sides of the trail. ® Indicates trees that should be measured.

Transect procedure
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Look at the forest and predict which type of tree will be
most abundant (have the greatest number) in the forest.
Find your assigned transect numbered flag along the trail.
Stretch your measuring tape __ feet along the trail.
Within every 5 feet section along the transect, identify the
closest tree (over 5” diameter) to the trail on both sides of
the trail.

Record whether the trees identified are Red Cedar,
Douglas-fir, Hemlock, Big Leaf Maple, or Alder. Ten trees
in all.

Record your information under your assigned transect
number on the Tree Species Abundance Data Collection
Sheet.

Collect data from all five transects and determine the
percentage for each of the 5 tree types.



Forest Tree Composition

Tree Species Abundance
Data Collection Sheet

Comparative Question: Which tree species (Red
Cedar, Douglas-fir, Hemlock, Big Leaf Maple, or Alder) is
most abundant in the forest at ?

Prediction:

Materials:

Forest Name:

Canopy closure %:

Location:

Date:

Type of Forest (Deciduous, conifer, mixed):
Length of transect Line:



Tree Species Abundance
Data Collection Sheet

Transect number:

Type of Tree Number %

Western Red Cedar

Douglas-Fir

Western Hemlock

Big Leaf Maple

Red Alder

Total
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Share Your Data with Graphs
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Claim, Evidence, Reasoning

Constructing an Argument/ Explanation to
answer the comparative question:

Which tree species (Red Cedar, Douglas-fir, Hemlock, Big

Leaf Maple, or Alder) is most abundant in the forest at
?

Claim

Evidence

Reasoning
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Talk Moves

1. Claim:
We compared which tree species was most abundant
in the forest at __. We took ___ random samples
using transects and counted and identified ____ trees
total. We found that was most
abundant and was second most
abundant while was the least
abundant.

2. Evidence:

I agree was most abundant. We
counted # of them. was second most
abundant and we counted # of them.
was the least abundant and we counted
# of them.

3. Evidence:

I (agree/disagree).

There were % of (most
abundant)

And there were % of (second
most abundant)

And there were % of the least abundant.

4. Reasoning:
I think one reason was most abundant in
this forestat ____is because
What other reasons can you think of?
Do you think we collected enough data to answer the
question?
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